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    ESCUCHAR 

 
INSTRUCCIONES PARA LA REALIZACIÓN DE ESTA PARTE: 
 

 DURACIÓN: 40  minutos.  

 PUNTUACIÓN: La calificación de APTO se obtendrá con el 50% de respuestas correctas. 

 A cada respuesta acertada le corresponderá un punto. Las respuestas erróneas no descontarán 

puntos. 

 Esta parte consta de dos tareas.  

 Leer las instrucciones al principio de cada tarea y realizarla según se indica.  

 Las respuestas escritas a lápiz no se calificarán. 

 No está permitido el uso del diccionario. 

 NO ESCRIBIR NADA EN LAS ÁREAS GRISES. 

 
ESCRIBIR A CONTINUACIÓN LOS SIGUIENTES DATOS: 

APELLIDOS: 

NOMBRE: 

DNI: 

GRUPO Y LETRA: OFICIAL  LIBRE  

 

CALIFICACIÓN: 
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TAREA 1 
Listen to a radio presenter talking about Harper Lee’s book Go Set a Watchman. Choose the best 
answer (A, B or C) to complete each sentence. Sentence 0 has been done as an example. When 
you have finished, transfer your answers to the ANSWER BOX. Only one answer is correct. 

 

GO SET A WATCHMAN – BOOK REVIEW 
0. The first book in the series, To Kill a Mockingbird, became a success… 

A. 2 years after it was published. 
B. in 1960. 
C. when it became a film. 

 

1. The second book was released… 
A. 55 years ago. 
B. in February. 
C. last Tuesday. 

 

2. Harper Lee’s first book was re-written… 

A. because it didn’t sell well. 
B. following someone’s advice. 
C. without any important changes. 

 

3. The reviews about the novel are generally… 
A. more positive than negative. 
B. very positive. 
C. very negative. 

 

4. To Kill a Mockingbird is… 
A. an autobiography. 
B. set in the 1940s. 
C. told by a young person. 

 

5. In To Kill a Mockingbird, Scout’s father Atticus… 
A. deals with racial problems. 
B. defends a white woman. 
C. has a negative view of justice. 

 

6. Readers don’t like the fact that in Go Set a Watchman… 
A. Scout’s father is a very different character. 
B. Scout has grown up. 
C. the story happens in New York. 

 

7. In a letter to a newspaper, a man wrote that… 

A. America hasn’t changed much in 55 years. 
B. Atticus was a very courageous character. 
C. People in Alabama have never been racist. 

 

8. The book is selling well… 
A. reaching the top of the charts. 
B. because of the reviews. 
C. but not as well as expected. 

 

(Adapted from voanews.com) 

ANSWER BOX 

SENTENCE 0 1 2 3 4 5 6 7 8 

ANSWER B         

 
 
 

Puntuación 1:_____ /8 
 

http://www.voanews.com/
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PÁGINA PARA NOTAS 
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TAREA 2 
You will hear an interview.  In the following summary, complete the blanks with the correct 
information.  Each answer may contain ONE OR TWO WORDS. 

 

The Math Myth 

Emily Hindford interwiews Andrew Hacker, a (0)     political science      professor to talk about his new 

book “The Math Myth”. Professor Hacker believes math requirements at university are not helping the 
economy because they make it more difficult for many students to (1) _______ college. 
 

At the age of (2) _______ high-school students are expected to study and understand a wide range of 
mathematical areas which is something Hacker finds (3) _______. 
 

As Hindford points out, in the 20th century, (4) _______ students actually took algebra or geometry.  
Professor Hacker then explains how, in large cities, you could easily find (5) _______ programs like 

Baking or Manual Arts where students acquired more practical skills . Nowadays, however, we want all 
youngsters to be prepared to undertake a university degree. 
 

Professor Hacker is particularly concerned about American high-schools completion (6) _______ since 
one out of five Americans drops out of high-school before finishing. 
 

Even though Hacker agrees that the situation today begins to (7) _______,  he still thinks that it´s 

essential not to see advanced maths as a requirement for every student. On the contrary, what his  
(8) _______ should do is make math classes interesting.  

(Adapted from americanradioworks.org) 

ANSWER BOX 

GAP ANSWER 

0 political science 

1  

2  

3  

4  

5  

6  

7  

8  

 
Puntuación 2:_____/8 

 

TAREA 1 TAREA 2 
PUNTUACIÓN 

TOTAL 

  / 16 

 
 

http://www.americanradioworks.org/
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PÁGINA PARA NOTAS 


